Answers

12 8 and 10 could @
10 2 be the other‘
way around in
the part circles.
$+10=18 ° 0
10+ 8 =18
12 -28=10
12-10=28
S+I1s =20 20=1S+S i.?
IS+ S5 =20 20= S+ 1§
20- S =18 IS$=20-S
20-15=S §$=20-15

Children should correctly write 2 different calculations and draw a
N

part-whole model for their chosen number bond. Here is one example:

6 +1 =17
n+6=17
17-6=1
17-10=6

Children will come up with a variety of answers. Look for understanding of the
correct answer and how and why it can be changed to be incorrect.

17=100+6
127 =6+1

=17-1
oot
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